
 

      
          

  
              

1. 335 −   işleminin sonucu kaçtır?

A) 0   B) 3 C) 6 D) 9 E) 12

2. 947 −   işleminin sonucu kaçtır?

A) –26   B) –27  C) –28  D) –29  E) –30

3. ( ) 957 −   işleminin sonucu kaçtır?

A) 16 B) 17 C) 18 D) 19 E) 20

4. 7438 −−   işleminin sonucu kaçtır?

A) –14 B) –13 C) –12 D) –11 E) –10

5. ( )7438 −−   işleminin sonucu kaçtır?

A) 18 B) 17 C) 16 D) 15 E) 14

6.  ( ) 7438 −−  işleminin sonucu kaçtır?

A) 9 B) 10 C) 11 D) 12 E) 13

7. ( ) ( )7438 −−   işleminin sonucu kaçtır?

A) –5 B) –10 C) –15 D) –20 E) –25

8. 351012 −−   işleminin sonucu kaçtır?

A) –40 B) –41 C) –42 D) –43 E) –44

9. 53426 −−   işleminin sonucu kaçtır?

A) –17 B) –18 C) –19 D) –20 E) –21

10. ( ) 53426 −−   işleminin sonucu kaçtır?

A) 5 B) 4  C) 3 D) 2 E) 1

11. ( )27:42    işleminin sonucu kaçtır?

A) 1 B) 3 C) 5 D) 7 E) 9

12. 3253 −   işleminin sonucu kaçtır?

A) –40 B) –39 C) –38 D) –37 E) –36
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13. ( )3253 −   işleminin sonucu kaçtır?

A) –999   B) –998    C) –997     D) –996    E) –995

14. 23:603:152324 −−+−

işleminin sonucu kaçtır?

A) –2 B) –1 C) 0 D) 1 E) 2

15. ( ) ]13:91325[4 +−+−−

işleminin sonucu kaçtır?

A) 5 B) 6 C) 7 D) 8 E) 9

16. ( )  4826743245 :: −−−+−

işleminin sonucu kaçtır?

A) 40 B) 41 C) 42 D) 43 E) 44

17. ( ) ( ) ( ) ( ) ]22:135[532
3

−−−−−−−

işleminin sonucu kaçtır?

A) –4 B) –5 C) –6 D) –7 E) –8

18. ( ) ( )  3:126431261237 −−−−−−−

işleminin sonucu kaçtır?

A) 0 B) 1 C) 2 D) 3 E) 4

19. 
( ) ( )2342

2342

−+−

−+−
işleminin sonucu kaçtır?

A) 2 B) –2 C) 3 D) –3 E) 4

20. ( ) 5]925725[712
3

+−+−−−

işleminin sonucu kaçtır?

A) –4 B) –5 C) –7 D) –10 E) 7
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